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LABOUR WELFARE

Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two

(2) marks. Attempt all the questions.

Match the following :
Management
Thinkers

(a) F.W.Taylor (i) Application of

psychology to
management

(b) Henri Fayol (ii) Sociological

concept of
Group
Behaviour
(c) Elton Mayo (iii) Time and
Motion Study

(d) Hugo (iv) 14 Principles

Munsterberg of
Management
@ b © @

A @@ @) @ 3Gv)

B) @) Gy G )

© Gav) @Gy @) @)

D) @) @ G Gv)

Contributions

Which approach emerged from the
findings of Hawthorne experiments ?
(A) Systems Approach

(B) Human Behaviour Approach
(C) Human Relations Approach
(D) Process Approach

Sequence the following steps of

organising process :

(a) Forming supportive objectives.

(b) Delegating  the  authority
required to perform activities.

(c) Establishing enterprise
objectives.

(d) Identifying and classifying
activities.

@A © @ @ (b
B © @ @ (b
<G @ © @b @
M b © @ @

Paper-1I

Which of the following provides a
guideline to decision making ?

(A) Strategy
(B) Policy
(C) Procedure

(D) Programme

‘Grapevine’ is a type of

(A) Written communication
(B) Formal communication
(C) Informal communication

(D) Lateral communication

Role of staff in ‘line and staff’
organization is

(A) Authoritative
(B) Managerial
(C) Superior

(D) Advisory

Job description provides information
about

(A) Nature and characteristics of
the job.

(B) Characteristics of the person
performing the job.

(C) Characteristics of the
organisation.
(D) Characteristics of the
management.
J-5510
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10.

11.

Tests devised to assess a person’s
ability to undertake a particular type
of work or to learn a particular skill
are called

(A) Aptitude Test
(B) Knowledge Test
(C) Intelligence Test
(D) Attitude Test

Which of the following statements is
false ?

(A) Good wage structure shall
address to internal equity and
external parity.

(B) Pay related decisions need not
base on employer’s capacity to
pay.

(C) Wage survey is the method for

knowing  the ‘prevailing
wages’.
(D) Low  wages and  high

productivity is exploitation.

The HRD matrix linking HRD sub-
systems with development
dimensions has been evolved by

(A) Dharani P. Sinha
(B) D.M. Pestonjee
(C) T.V.Rao

(D) Udai Pareek

Which of the following is not a
method of Performance Appraisal ?

(A) Behaviourally Anchored
Rating Scales

(B) Ceritical Incidence Method
(C) Grading Method
(D) Weighted Check List Method

Paper-1I

12.

13.

14.

What is the correct order of the
following phases of training ?

(1) Development Phase

(1)) Design Phase

(ii1)) Need Analysis Phase

(iv) Implementation Phase

(v)  Evaluation Phase

(A) @) ) @O @Gv) (V)
B) @ @ @>@) () @Gv)
© @G aGv) @O G ()

(D) vy @) @ (@G (v)
Match the following :
(a) Fish-Bone (1) Paul
Analysis Branthal
et. Al
(b) Balance (i)  Frederick
Score Card Herzberg
(c) Learning (111) Ishikawa
and
Performance
Cycle
(d) Job (iv) Kaplan
Enrichment and
Norton
Codes :

@ ® @© @
@A) Gy Gv) G @
B) @i @ Gy (G
© Gv) G @ (i)
D) @i Gy @ (D)

In which industry, Quality circles in
India were first introduced ?

(A) Bharat Electronics Ltd.
(B) Bharat Heavy Electricals Ltd.

(C) Bharat Heavy Plates and
Vessels
(D) Bharat Earth Movers Ltd.

J-5510



10.

11.

Teh To9IY UehR o 1 ohl 819 § i 37l
Teh {919 hIvTeT ! |G i Ush =i
T AT o UROT & foTT vRpeR oRieron
T FEd & ?

(A)  3Tgh uiefor

(B) 3 RteTor

(C) g Tt

(D) TR TXreToT

FrATeTiae 9 i |1 e Tord & 2

(A) UH TSI TGl JoTelt 3Tideh
et dOr SR WHEar
Haiad T |

(B) o= Gl Ui o e @
ST S ohl AT UX TN i
T ST &l |

(C) TSR ToRIUT Feferd HSTgdt o
S U fata € |

(D) = Os/gh do I=9 IR

MOTE |

Mg gareE  fose™ Su-uonfer i
ToIhTg- 31T & 919 Siigd ol T 3R
2t A o T fere fopam 2

(A) RO O, fa=T
(B) EI.UA. GRS
(C) 2rar =
(D) /IUMNRH

fefefea & ¥ o9 9@ wE-Fura
Hoaish i fafy & & 2

(A) TR Ushe AT Whod
(B) Tohicehet Sed HorE

(C) ufeTHge

(D) aE I felie Aus

J-5510

12. uReor = fatvs Hefaiaa srerenstt

13.

14.

T TE SFH FATE 2

(i) T sferen

(ii) ATvTeRed sTaen

(il) STETIRAT [TTATOT SFaree
(iv) Tohamo=e sTaeen

(V) AR e

A) G () G Qv (v)
B) aG) @ 3di) (v) (>{v)
© Gy Gv) @ () (v)
D) Gv) () @) i) (v)

o oo

frefetfiad st gaferd shifs

(a) TwReT-aM (i) dieT siereT e
ECIITGIRsES) )

(b) A @R F1S (ii) TheReh gotan

(c) AFFTUTS (iii) Z9TepTam
TR Grgehet

(d) e FRaHe (i) I o

qtea

Fe:

(@ (b © (@
A ) (@Gv) () 1)
B) @G @ Gv) ()
©  Gv ) (@) (i)
D) G Gv) @) ()

9 4 9 Fefaied 9 9 few sam g
“FelTeTel Aiehel bl TIH TR ARET Toham
RIE 1

(A) 9IRA o -eh fariee

(B) YIRA &all Seifdeehet faies

(C) ¥IRA &l ©icH UUE e

(D) 9Rd 37 god fafgee
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15.

16.

17.

18.

Who developed the
Grid’ Theory ?

‘Managerial

(A) Sydney and Beatrice Webbs

(B) Robert Blake and Jane S.
Mouton

(C) W.J. Reddin
(D) Rensis Likert

Systematic collection of data on a
feedback and
helping organisation to take action to

problem, analysis,

address the problem is called
(A) Process Research

(B) Field Research

(C) Action Research

(D) Business Research

Sensitivity training evolved from the
group dynamics concept of

(A) French and Bell
(B) Eric Bernie

(C) Moreno

(D) Kurt Lewin

Which of the following is a group

phenomenon ?
(A) Perception
(B) Attitude
(C) Morale

(D) Motivation

19.

20.

21.

22,

Which of the following countries is
said to be the home of collective
bargaining ?

(A) United Kingdom

(B) United States of America

(C) Sweden

(D) France

The  Tripartite Declaration of
Principles concerning MNEs and
social policy enunciated by ILO was

m

(A) 1976
B) 1977
(C) 1978
(D) 1979

The coverage of  workers’

participation under a comprehensive

labour relations legislation was

recommended by

(A) The First National
Commission on Labour, 1969

(B) The Second National
Commission  on  Labour,
2002

(C) Participation of Workers’ in
Management Bill, 1990

(D) Scheme of
Participation in Public Sector
Undertakings (1983)

Employees

Which of the following is not a
tripartite body ?

(A) Indian Labour Conference

(B) Standing Labour Committee
(C) Wage Boards

(D) Joint Management Councils



15.

16.

17.

18.

Uiorie e’ faera o1 faeg foeeA

fopa 2

(A) TEe g dfeq o=

(B) (@ &ieh @1 S TH. Hied
(C) T=g. <. e

(D) ¥ ferhe

TH THET F IR @ h gared
Gy, favetson, ufdqfse den g9 &
T & ST 33 & [T G i
TETAT Y <l T el & ?

(A) 7w g
(B) Tice R
(C) UwH @
(D) fosa RE=

frefeiaa # @ fhe o SeAte &t
AYRON 1 Uqued  har,  NEd
dfafefaet 2 foetad g8 ?

(A) T der A

(B) URe T

(C) HrA

(D) e Al

fAtetad 5 | i U g SAm ¢ 2
(A) TEHIH

(B) Uicge

(C) wRe

(D) TR

J-5510

19.

20.

21.

22.

frfafea & @ v 391 = 9Hies
HISITST T B el ST & 2

(A) FrrEe fehred

(B) ATRIE WIH 3T STHNH
(C) @A

(D) W@

TG WA= qAT WIS AT &
Heftyq Freet =@iwon & fagEr &
T RIS 20 G4 gRT fhe a9 o
Topam T 2

(A) 1976
B) 1977
(C) 1978
(D) 1979

U A SH-GaY STe-ag | SiHen!
i FEHITAT i IMHA BT I (TR
frfofea 5 9 fFaesh gl e ot 2

(A) YW LT S| ST, 1969

(B) fedia o= s 3, 2002

(C) veem § el s R faa,
(1990)

(D) WESHE &F & UdeHE o
FHHLATRET Tl FEHTHTAT T 1983

fr=fefad 4 ¥ &4 s Gt Fem
T2

(A) Efea AR HFH

(B) ¥feT oer siver

(C) ITaE

(D) SiEE HASTHE TSl

Paper-1I



23.

24.

25.

26.

A list of Unfair Labour Practices on
the part of Trade Unions and
Employers was inserted in

(A) Trade Union Act, 1926
(B) The Factories’ Act, 1948

(C) The Industrial Disputes Act,
1947

(D) None of the above

INTUC, AITUC, HMS and UTUC
adopted the code of conduct for
Trade Union Rivalry in the year

(A) 1948 (B) 1958
(C) 1968 (D) 1978

Who among the following was the
First Trade Union Leader in India ?

(A) N.M. Lokhande
(B) B.P. Wadia

(C) G.L. Nanda
(D) M.K. Gandhi

Match the following :
Trade Union Year of
Federation Formation
(a) AITUC (i) 1947
(b) CITU (i) 1948
(c) INTUC (i) 1920
(d) HMS (iv) 1970
Codes :

@ ® @© @
@A) @Gv) @Gy @ 3G
B) @i @ Gy (D)
© @ Gy @ G
D) Gy Gy Gy @
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27.

28.

29.

30.

Which of the following is not
regarded as a wage legislation ?

(A) Payment of Wages Act, 1936
(B) Minimum Wages Act, 1948
(C) Payment of Bonus Act, 1965
(D) Equal Remuneration Act, 1976

Which of the following legislations
is not based on the provisions given
under the Directive Principles of
State Policy in Indian Constitution ?

(A) Maternity Benefit Act, 1961
(B) Equal Remuneration Act, 1976
(C) Child Labour Act, 1986

(D) Payment of Bonus Act, 1965

For which of the following social
security legislations, there has been
created a central enforcement
machinery ?

(A) Maternity Benefit Act

(B) Employees’ State Insurance

Act
(C) Workmen’s Compensation Act

(D) Payment of Gratuity Act

In which of the following
legislations, there is mention of
“Principal employer” and

“Immediate employer” ?
(A) Industrial Disputes Act, 1947
(B) Trade Unions Act, 1926

(C) Contract Labour (Abolition
and Regulation) Act, 1970

(D) Industrial Employment
(Standing Orders) Act, 1946

J-5510



23.

24.

25.

26.

o

TSGR HEl T HifeTeh! & e aeR
H gA ® ACGEd § 9 feeH
Gferferd femar T ?

(A) TS ¥ I, 1926
(B) HREMT 3Atufam, 1948
(C) A=nTe foams stfafTaw, 1947
(D) SWied 4 fdt | =&

INTUC, AITUC, HMS @er UTUC 3
TSGR G UidgT5aT & fold 3TeR g
! T ay 31emRT 2

(A) 1948
(C) 1968

(B) 1958
(D) 1978

frfafEd § | i SR S 7T 75T
T AT A1 ?

(A) TAUH AES
(B) .U =nfean
(C) SI.Ue. =i|T
(D) UH.. M

FTeIRad ot gafeTd hitea :
AR € TTIAT
TR HTay
(@) AITUC (i) 1947
(b) CITU (i) 1948
(¢) INTUC (11) 1920
(d) HMS (iv) 1970

(@ (b @© (@
A Gv) @) @) ()
B) @G @ @Gv) ()
© G Gv) (@) ()
D) @) @) Gv) 1)

J-5510

27.

28.

29.

30.

Ffeiad o ¥ fha ueh Tergdt eifafag
TET T ST el ?

(A) TSIG PTAF Sa-1ad, 1936
(B) =AY AT Ao, 1948
(C) dHE P ST, 1965
(D) T TR S1futam, 1976

fr=fefaa @ 9 =9 @1 stfutag ardg
dfaum & 19 & Aiq e fagia a
o2 T2 wrerT OX S el g ?

(A) WG o ATEad, 1961
(B) IHM TReithes Sifutam, 1976
(C) T srthek SAfafam, 1986
(D) FHE JTAH SEE, 1965

frafafea & @ feq amfee gQeen
AR o HEFeET & O el e
LECEIRIKIR R

(A) WG o AT
(B) HHAR! T ST taaw
(C) MR effergfe sttafer
(D) =g oy sfafam

frfefag 9 9 forg sttufram 9 “fifauer
TAFY AT “THTSTS TATIL” I Iooid
g2

(A) 3TrnfTes foams stfafem, 1947
(B) WSIR T 31, 1926

(C) HeaR TR (TS TUe T[eier)
AT, 1970

(D) 3fefr Faee (= emew)
TaE, 1946
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31.

32.

33.

34.

Which of the following legislations
was amended to incorporate a
separate chapter on safety for
hazardous occupations as a result of
Bhopal Gas Leakage ?

(A) Mines Act

(B) Factories” Act

(C) Plantation Labour Act

(D) Shops and Commercial

Establishment Act

Which of the following statements is
correct for the Trade Unions Act,
1926 ?

(A) It provides only for registration

of Trade Unions.

(B)

It provides only for recognition
of Trade Unions.

(C) It provides both for registration
and recognition of Trade
Unions.

(D) None of the above

The provision of  “Protected

Workmen” is given under :

(A) Factories’ Act, 1948
(B) Mines Act, 1952
(C) Industrial Disputes Act, 1947

(D) Payment of Bonus Act, 1965

In which of the following
legislations there are provisions of
compulsory mediation and collective
bargaining ?

(A) Industrial Disputes Act, 1947
(B) Trade Unions Act, 1926
(C) Industrial Employment

(Standing Orders) Act, 1946

(D) None of the above

Paper-1I
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35.

36.

37.

38.

Equal Remuneration Act, 1976 was
mainly enacted to check

(A) Child Exploitation
(B) Men Exploitation
(C) Women Exploitation
(D) All the above

Which of the following is given to
workers in the unorganised sector or
sweated industries ?

(A) Living Wages

(B) Fair Wages

(C) Statutory Minimum Wages
(D) None of the above

Welfare is considered as

(A) Total Concept

(B) Social Concept

(C) Relative Concept

(D) All the above

The success of welfare work

depends on six basic principles was
advocated by

(A) S.D. Punekar
(B) D. Paul Choudhury
(C) A.M. Sharma

(D) M.V. Moorthy

J-5510



31.

32.

33.

34.

el 19 {@e s & gRomm wey

frefefag 9 9 fore stfufm & siara

HEMET Y G W TH o ST —

IR UihAel ¥ Gefud U

ST T ?

(A) @ TafEw

(B) HREMT Afufam

(C) =g ST 3Tty

(D) THHE T ISR UideH
AtafTas

ToTR 99 aAfufEm, 1926 % 93 A
Trfetfiad & @ s |1 FaT T e 2

(A) TEH ool HoIgE GEl o ST
FIHTIHE |

T el HeTgY Gl ohi HIT 3
FIHTIHE |

TH TSTGY THT o USTehRoT T 3%
T WM e — 1 Ml o
PIECIC e

(D) T I HE T |

(B)

©

frfafea O 9 foe stfufag I “uicees
U T TTEH & ?

(A) HREMT U2, 1948

(B) W@ 3tufTaH, 1952

(C) =ntTe foams stfafTaw, 1947
(D) HE JTAH S, 1965

frtetad 5 9 forg etfufem 9 <atfemd
TRAr gl WHE®  GREs 6
e € 2

(A) =N foams stfafTaw, 1947
(B) WSIER T 314, 1926

(C) 3fefir FaeH (= emew)
AtafTaH, 1946

(D) 39 ¥ foreit /Tl

J-5510
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35.

36.

37.

38.

TE URSHe  IEH, 1976 W
T T ¥ o W 31T o o fote
IR AT T 1 ?

Bl
JES-FIN0T
HigeTT-3IeoT
ESLICECE]

(A)
(B)
©
(D)

Fied &F IEaT Wde I &
STER] ol TEATetEd | @ ShiF 91 Joigdl
A E ?

(A) et weigd

(B) 3Tad Aot

(C) A ET & T FAaH Tl

(D) T W HIE Tl

SHEATT T AT STATE |
(A) 0T SFeROm

(B) WIS STTLROMT

(C) HiaTh SFERoT

(D) T & o+t

FHAOT FE B GG D STERTA
fogidl W FR g &, U TR
Tohee =Rl ot ?

Y. QU
2. dfe =t
TUH. 37

AL 7

[N

(A)
(B)
©
(D)
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39.

40.

41.

42.

Robert Owen, the founder of
‘Welfare Movement’” conducted
which of the following experiments ?

(A) New Lanark Experiment

(B) Hawthorne Experiment
(C) Experiment on Illumination
(D) None of the above

“Welfare work is a means of
securing, preserving and increasing
the efficiency of labour” is the theme
of

(A) Paternalistic Theory
(B) Religious Theory
(C) Functional Theory
(D) Placating Theory

Housing is a statutory welfare under
which of the following Acts ?

(A) Factories’ Act

(B) Mines Act

(C) Shops and Commercial
Establishment Act

(D) Plantation Labour Act

What has been the impact of

globalization in India on State

Regulation of Wages ?

(A) Scope of State Regulation has
increased.

(B) Scope of State Regulation has
decreased.

(C) There has been no impact.

(D) None of the above

Paper-1I

12

43.

44.

45.

Arrange the following according to
their comparative position from
lowest to the highest :

(a) Statutory Minimum Wage
(b)  Subsistence Wage

(c) Living Wage

(d) Fair Wage

A @ @© (b @
B b @ @ (©
© b @ @ (©
M @ @© @ (@

Which of the following statements
appear to be correct ?

(A) Wage differential is desirable

for the growth and
development of the society.

(B) There should be no wage
differential in the country.

(C) The state through regulation of

wages can eliminate wage
differentials.

(D) None of the above

Match the following :
Theories of Propounders
Wages

(a) Subsistence (i) Karl Marx
Theory

(b) Wage Fund (ii) Francis
Theory Walker

(c) Residual (1) J.S. Mill
Claimant
Theory

(d) Surplus (iv) David
Value Ricardo
Theory

@ ® © @

A @i Gy @ 1D

B) @Gv) G) @ @

© Gy @ @) @)

O @® G Gy (D)
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39.

40.

41.

42.

IR JIHUS' T YA R aTel e
e Tefefad 5 € S99 93T
ERIRIN

(A) = O T
(B) & e

(C) VIhIST W VT
(D) T @ FE TRl

FHEAUT FE HHRT H HEFICA hl
ATM, S T AT §@H T T4 €,
Tg FHEeEd 0 @ fed fagia @
i & 2

(A) UeHTARee faadt
(B) Rictorg TRt
(C) e T
(D) TSR TRt

frfetad 5 9 forg atfufram & siaia
ST GIeTeT Ueh Sifersh hedToT Yiaem € 2

(A) FHREHT Afafas
(B) WM gt

(C) THPH Ud Fviad  UideH
A

(D) TICYH R T

IRA T ToIgA & IeMh o aee
SIS HT0T ST T T TS & 7

(A)
(B)
©
(D)

SRl favg-foar s |

e fovg-foeaR e T R |
THH HIE THE Tl T2 & |
IR | 9 hiE e |
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43.

44.

45.

frfeiiad s At qomTeaes fRafd o
YR R a9 4 SEaq 9 § 39

(a) Tafy goe =g Beig
(b) TR HIH

(c) fraie worgdt

(d) Sfae eI

A @ @© b @@
B) ® @ @ (©
© ® @ @ (©
D) (@ (© @ (®

At 7 @ *9 91 %299 & udd
TATE ?

(A) TR = g9t % o &
fAu s & |

91 1 Tt Rt el el e |

TSTGH & YTSTehtal FH1omeT ST HSTaRt
FT=TcT hl THT TR ST FhaT @ |

TTH 9 HIE 7 |

(B)
©

(D)

o oo

f=ferfiad =1 fHer ifsTo :

A fag| vaaw

(a) waEEH (i) T
oy

(b) ITHE REA (i) AT T

(c) agsm (i) <.uq. e
Forre oy

(d) Wewag (iv) e
Ry enrer

e

(@ (b © (@

A) @G Gv) (@) ()
B) @Gv) @) G 1)
© G @ @D @Gv)
D) (@ a1 @Gv) (i)
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Read the following passage and answer
questions from questions 46 to 50 :

It is commonly said, “when you eat
the fruit, think of the person who laboured
to plant the tree”. It is apparent that a
progressive corporate management team
will be the first to recognise, motivate and
reward the workforce that fashions a
radiant balance sheet. If an employer
claims success through ‘hard work’ the
first question that rises in anyone’s mind is
whose hard work ? Behind many
achievements there is a team of employees
who genuinely ‘engage’ themselves for the
growth of the company as well selves which
is known as ‘employee engagement’. These
engaged employees develop an emotional
attachment and an unflinching commitment
to the interests of their employers. In any
organisation, employee engagement is driven
by people, work, opportunities, quality of life,
procedures and compensation.

The challenge, in demanding times,
is to keep the talent engaged, motivated
and focused on the right goals by fostering
creativity at every level of the
organisation. In many cases, employees
tend to be both distracted and highly alert.
Engagement challenge has a lot to do with
how employee feels about the work
experience and how he or she is treated in
the organisation. The three basic aspects of
employee engagement are — the employees
and their own psychological make up and
experience, the employers and their ability
to create conditions that promote employee
engagement and interaction between
employees at all levels.

In organisations there will always be
some people who never give their best
efforts no matter how hard HR and line
managers try to engage them, while some
others will commit to companies because
doing so satisfies a powerful and basic
need to connect with and contribute to

something significant. Therefore the
employees may be categorised as
‘engaged’, ‘not-engaged’ and actively-

disengaged. The ‘engaged’ employees are
builders and perform at consistently high
levels. They work with passion and they
drive innovation and move their
organisation forward. The ‘not-engaged’

employees tend to concentrate on their
task rather than the goals. They feel their
contributions are overlooked and their
potential is not tapped. They feel this way
because they do not have productive
relationships with their managers and co-
workers. ‘Actively disengaged’ employees
are “consistently against something”. They
sow seeds of negativity at every
opportunity. Every day, they, undermine
what  their  ‘engaged”  co-workers
accomplish. Organisations should thus
recognise employees more than any other
variable as powerful contributors to a
company’s competitive position.

46. Employee engagement means
(A) getting employment
(B) getting  employment
handsome salary
(C) commitment to organisational
goals

and

(D) all the above
47. On which of the following factor(s)

employee engagement would

depend ?

(A) Psychological characteristics
of employees

(B) Physical facilities given to
employees

(C) Availability of workers for
recruitment

(D) All the above

48. Engaged employees are

(A) always present in the company

(B) innovators and passionate
about work

(C) actively disengaged

(D) always undermining work of
others

49. The employees who tend to feel that

their  contributions are  being

overlooked are

(A) engaged

(B) disengaged

(C) not engaged

(D)

50. ‘Disengaged’ employees
(A) are not against any thing
(B) are not negative about people
(C) do not appreciate what others
accomplish
(D) none of the above

actively disengaged
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Frfeiad TTeIreT oAt ufed e Ue S 46-50 6
I T

T I8 el ST € T “Whet @1 98
39 AT o IR T G ST 87 R o9 | 7
e g foh ek Imiasiier ShaRe Uee 39 & qad
Teo! 3T YHE S UETH H 8, IR ISROT
AN & TAT IH &P el & ST HROT Uh
AIIETH 9o W TAR BT € | A i
TR “SieT URS™’ o gRT W%eT & &l @
AT & o T ot =afea & 99 H v uee 9@
33T 1o TohaeRT ShicT ey ? 3 Suaieaal &
WS HURET bl Teh 29 Bl & ST hol qer @&
mgﬁ%mmﬁﬂémﬁ G

~a stc'ﬂs STSTHE el ST & | 39 UK oh

3Iog TS H 310 ﬁaﬁwaﬁaswww
S[eTd AT 3ok feal o Wi Heaarcdeh Hidesa
foreprae 2t & | Foplt ot Wi ¥ =fEaE, W,
A, G- T TOTET, UihATST qEr g3
1 ST SiioTiE 1 IR Fha ST |

ST H AR & G H, ST &
Tedeh TR IX GTIcHehRdT hi TS 3T U3 ol
ST e, SR o ddT Gl oledl & uid
GRS P ol AT & | 3P HHEA H HHER
faepiia qan eAfa-diend SHT & Tohd € | ST
T AT T T g &% %k 39 a1 § § {oh U
FHAR FEFHE & IR § T Hegq Ll & a2l
HTTST § 3Geh WY hd] SHoER ol ST e | Twire
oM & O Tee] & : HUTRNT T SR
ISTHE 1 J¢M el Rt & T sl 3t
TG T Fedieh TR W FHAIET o o 37
e |

TSl § T D UH O &t & St e |
3T FAHE T el oI e AIFe Sare
TqAT AT Ueieeh 3¢ 20T b oh folT fohal ot
LT AT 7 L, STaleh F 3 AN o B €, S
HYA & W Uidag &R, i U A 9 3%
ST At T STERYT STevashdl § TS
T QEF AEH FA T AT T | ST
feq-gice’ & &7 4 wiicag fFar 51 a1 € |
foTe el & | STH 1T e R o Bl & qer
TavEr ol U e & T4 279 TS i 3T o
S E | TS TS HEE o ool W & 3 i

TSN 31T T W I @ o UG Bt 1o
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UHT Hegd il € Toh STeh ANIGH ol 3T & &l
T AT IR IS T ST Rl TR ST @I |
3 U1 T HEqH I & Hiifch ST0 Teeiehi e
HEhHAl o QI ITh1 Fowg Gy el B |
“Ufeeaetl Teg-ive’ AR UGTHH 9 § &
99 & RR faog 8 € a91 98 TR | o
TPRICHSAT & IS AId € | o Widie 379 Feshiar
& AT I AT ek & | ST S Sl Sl
WaericHsh i ol | s & o, 3T
SFHENET i TE fohd! 311 A 9 =2 afoss 29
a9 A A |

46. IwAtE T H AT
(A) TSFIR 9T |
(B) TSR LT 37T I 91T |
(C) AT el & Ul Fiaergn |
(D) THIF |

47. T Yeme W9 fea/fe
FHRE/FRHT T TR 4T 2
(A) FHEAET o FACTE SHARTT |
(B) HUEIRAT H SUAH TE TS

TSI Greremd |

(C) IRl he o] STHehT i JUCTRIT |
(D) THITN W |

48. FisT FHARI
(A) TN H T SURIT B & |
(B) FTeIvieIcieh AT W o g B € |
(C) ufteaet feq-giss gm & |
(D) T TEI % HIH T =T ThA € |

49, UY FHHARET I FT Fe S TH Hegd
FA & foh 3Tk IRTEH ol 31T foham T
w/E?

(A) FIs8

(B) feudtss

(C) drR s

(D) TUfdeael feqdics

50. feudiss HHOR]

(A) fordlt =it o foreg &l Bt |
(B) AT % Wi RIS =& il |
(C) TE % AT b e 6T e |
(D) & T I T B |
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